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QUESTION 1

Which of the following about IS-IS Traffic Engineering on an Alcatel-Lucent 7750 SR is FALSE? 

A. Traffic engineering information is carried in the extended TLVs. 

B. Traffic engineering must be enabled on all IP/MPLS routers along the LSP path. 

C. Traffic engineering information is stored in the opaque database, 

D. Traffic engineering is required for constraint-based LSPs. 

Correct Answer: C 

 

QUESTION 2

Which of the following routing protocols are supported on the Alcatel-Lucent 7750 SR to enable constraint-based LSPs?
(Choose two) 

A. RIPv2-TE 

B. CSPF 

C. OSPF-TE 

D. ISIS-TE 

E. RSVP-TE 

Correct Answer: CD 

 

QUESTION 3

Click on the exhibit button below. 
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Given the configuration below, which of the following commands would enable fast reroute on the LSP? Choose two
answers 

A. This configuration already is configured for FRR. 

B. fast-reroute facility 

C. fast-reroute one-to-one 

D. secondary  

E. standby 

Correct Answer: BC 

 

QUESTION 4

An LSP is configured with a fully loose path and CSPF is not enabled. An LSR receives the first PATH message for this
LSP. Which of the following is NOT performed by the LSR? 

A. The LSR regenerates and forwards a new PATH message. 

B. The LSR stores the PATH message in the PSB. 
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C. The LSR forwards the PATH message based on the HOP object in the RSB. 

D. The LSR looks up the PATH message\\'s destination IP address in the FIB. 

Correct Answer: C 

 

QUESTION 5

Which of the following about T-LDP on the Alcatel-Lucent 7750 SR is FALSE? 

A. T-LDP is used to provide an end-to-end session between two PE routers. 

B. T-LDP is used to signal service labels for Layer 2 services. 

C. T-LDP is used to establish transport tunnels for Layer 2 services. 

D. T-LDP is used in LDP over RSVP solution. 

Correct Answer: C 
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